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PRECEDENCE AND ASSOCIATIVITY

OPERATORS ASSOCIATIVITY
O I]1 -=. Left to right

!' + - + - * & (type) sizeof | Right to left (Unary)
* % Left to right

+ - Left to right

< <= > >= Left to right

= 1= Left to right
&& Left to right

I Left to right

?2: Right to left

= 4= = *= /= Y%= Right to left

Left to right




Part | [10 points]: Multiple choice questions

1) Which of the following is the correct C assignment statement for the formula: rootl =
—b ++/b? —4ac

2a

A. rootl = (-b + sqrt(b*b - 4*a*c)) / 2*a;

B. rootl = (-b + sqrt(b*b - 4*a*c) / (2*a));

C. rootl = (-b + sqrt(b*b - 4*a*c)) / (2*a);

D. rootl = -b + sqrt(b*b - 4*a*c)/(2*a);

2) Which of the following is a correct implementation of the condition
I0<m<14

A (m>=10|m<=14)
B. (10<=m<=14)

C (m>=10 && <= 14)

D (m>=10 && m <= 14)

3) What will be the output of the following C code fragment?
double x = 3.456;
printf("%4.1f*%5.2f*%.4f\n", X, X, X);

A. 3 4 | * 3 |. |4 |5 |* |3 4 |5 |6
B. B 5 |* 3 |. |4 |6 |* |3 4 |5 |6
C. 3 5 |* |3 |. |4 |6 |* |3 4 |5 |6 |0
D. 3 4 |* | 3] .14 |5]* |3 4 15 |6 |0
4) What will be the output of the following C code fragment?

int x = 345;

printf("%4d*%5d*%21d\n", X, X, X);

A. 3 |4 |5 |* 3 |4 |5 |* |3 |4 |5

B. 3 |4 |5 | * 3 |4 |5 | * |3

C. 3 14 |5 * 3 14 |5 * |3

D.|3 |4 |5 * 1314 |5 * |13 |4 |5

5) What will be the output of the following code fragment?
printf("%f\n ",((int) (3.141592*1000))/1000.0);

A. 3.141592
B. 3.141000
C. 3.142000
D. 3.000000



Part 11 [20 points]: What will be the outputs of the following programs?

A)

B)

#include <stdio.h>

int main(void)

t
Intx=7,y=4z2,
printf("%d\n" x--);
Z= --X * y++,
printf(*%d \n", z);
return O;

Output

#include <stdio.h>

int main() {
int X;
printf("Enter a value for x >");
scanf("%d",&x);

if(x>=6)
if(x < 10)
if(x >7)
printf("A");
else
printf("C");
else

if (x>12)
printf("D");
else
printf("B");
else
printf("F");

return O;

Value of x typed by
user

Program
output

15

D

7

C

3

E




C)

D)

#include <stdio.h>// 3 points
int main() {
inty;
scanf("%d",&y);
switch(y){
case 7: y=y+1,
case 3: y=y+2;
break;
case 2: y=y+3;
default: y=y+4;
¥
printf("%d\n",y);
return O;

}

Value of y Program output
typed by user

7 10

2 9

4 8

#include <stdio.h>

int main(void)

{

inti, j, sum;

sum = 0;
for(j=0; j<7; j++) {
if(j%2==0 || j%3==0)
continue;
sum += j*j;
if(sum>5)
break;

}
printf("%d %d\n", j, sum);

return O;

}




Part 111 [20 points]

Complete the following C program that will take from the user, in the main function, two real
numbers (a, b) and one operator (op) (‘+’, *-’, °/°, or “**). The C code contains a function called
“ComputeResult” that will return to the main function the result of the operation. The function
prototype is double ComputeResult(double, double, char);

The function to be written is required to compute the result of the operation using switch
statement. This result should be displayed in the main function as shown in the sample runs.

Sample run 1
Enteraopb: 10.5*9 Sample run 2
10.5*3.9 = 40.95 Enteraopb: 45/0
Error cannot divide 0
Sample run 3

Enteraop b: 12.5$ 3.45
$ is unknown operation

#include <stdio.h>
double ComputeResult (double, double, char); /[ function prototype
int main(){

double a,b,result;

char op;

printf("Enter operation,aop b : ");

scanf("%lIf %c %If",&a,&op,&Db);

if(op=="I' && b==0 )
printf("Error cannot divide by 0\n");

else if (op=="*"||op=="+"||op=="-"||op =="/")

result = operation(a,b,op); // Call the function to compute the result
printf("%.2f %c %.2f = %.2f \n",a,0p,b,result);

}
else  printf("%c is unknown operation\n", op);
return 0;}

/I define the function ComputeResult. Use switch statement
double operation(double a, double b, char op){
double result;
switch(op){
case *": result=a*Db;
break;
case '+'": result=a+b;
break;
case -": result=a-b;
break;
case '/": result=a/b;  }
return result;}



Part 1V [24 points]

Assuming that int i = 2, ] = 4, k = 9; is given before each one of the following expressions,
evaluate the value of each expression (exp) and also give new values of i, j, and k after each
expression. Note that your answers must be given in the table below.

1. i+=jl=k

2. K=++j+it++

3. I<i

4. ++i==j--

5. k-j*2>=i?j:++k
6. i=j>=k

7. (i-=2)&&++j
8. —i|l++]

9. I&&(k-=9)
10. j<i<k

11. i=(k=j++, k +=))

12. 1K > 42++ji++

exp [ ] k
1 3 3 4 9
2 7 3 5 7
3 1 2 4 9
4 0 3 3 9
5 10 2 4 10
6 0 0 4 9
7 0 0 4 9
8 1 1 4 9
9 0 2 4 0
100 1 2 4 9
11| 9 9 5 9
12| 2 3 4 9




Part V [6 points]
Give the output of the following program:

#include <stdio.h>
main()

q 2
inti, j, k;
float x; 4.50
1=11;j=4; k=i/j; 4
printf(“%d\n”, k);
X =ilj +2.5; °
printf(“%4.2f\n”, x); 5.25
k =ilj + 2.5; 4.50

printf(“%d\n”, k);

k = (float)i/j + 2.5;

printf(“%d\n”, k);

x = (float)i/j + 2.5;
printf(“%4.2f\n”, x);

x = (float)(i/j) + 2.5;
printf(“%4.2f\n”, x);



Part VI [20 points]

Give the outputs of the following programs:

1)
#include <stdio.h>

int main ()

{
void fun (int) ;
int x=5;

fun (x) ;

printf ("$d\n", x);
}

void fun(int x)

{
X += 7;
printf ("%d\n", x);

2.)
#include <stdio.h>
main ()
{
int i=2,k=18;
for (;i<10;i++)

{
static int k=10;

if (k%$i==0) printf("i");

}
printf("%d $d\n",i,k);

3.)
#include <stdio.h>
main ()
{
inti=7, j=-2;

while (i++, j += 3, i>j+1)

printf ("i=%d j=%d\n", i, Jj);
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4.

#include<stdio.h>
main ()

{

int j, k, a;
for (a=0, j=0, k=3; j<k; j+=2, k++) a += j+k;
printf ("a=%d j=%d k=%d\n", a, j, k);

for(a=0, j=0, k=3; j<k;

j+=2, k++)

{

a += j+k;

if(j+k == 6) break;

} a= 18 j= 6 k= 6

_ a= 9

printf ("a=%d\n", a); a= 12
for(a=0, j=0, k=3; j<k; j+=2, k++)
{

if(j%k == 2) continue;

a += j+k;

}

printf ("a=%d\n", a);
}



